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75 ~ A project has the following forecasted cash flows:

Cash Flows,$ Thousands
Co C1 Cc2 C3
-100 +40 +60 +50

The estimated project beta is 1.5. The market return ry, is 16%, and the risk-free rate r¢is 7%. (AR 12%)

1. Estimated the opportunity cost of capital and the project’s PV (using the same rate to discount each cash flow). (3%)

2. What are the certainty-equivalent cash flows in each year? (3%)

3. What is the ratio of the certainty-equivalent cash flow to the expected cash flow in each year? (3%)

4. Explain why this ratio declines. (3%)

4 ~ Which of the following observations appear to indicate market inefficiency? Explain whether the observation appears to
contradict the weak, semi-strong, or strong form of the efficient-market hypothesis. (&A83% 12%)

1. Tax-exempt municipal bonds offer lower pretax returns than taxable government bonds.

2. Managers make superior returns on their purchase of their company’s stock.

3. There is a positive relationship between the return on the market in one quarter and the change in aggregate profits in the
next quarter.

4, There is disputed evidence that stocks that have appreciated usually in the recent past continue to do so in the future.

5. The stock of an acquired firm tends to appreciate in the period before the merger announcement.

6. Stocks of companies with unexpectedly high earnings appear to offer high returns for several months after the earnings
announcement.

A\ ~ Consider the following three stocks: (A A8 4 9%)

1. Stock A is expected to provide a dividend of § 10 a share forever.

2. Stock B is expected to pay a dividend of § 5 next year. Thereafter, dividend growth is expected to be 4% a year forever.

3. Stock C is expected to pay a dividend of $5 next year. Thereafter, dividend growth is expected to be 20% a year for five
years (i.e., until year 6) and zero thereafter. If the market capitalization rate for each stock is 10%. which stock is the

most valuable?
# ~ Consider a three-factor APT model. The factors and associated risk premiums are : ($£16%)

Factor Risk Premium
Change in GNP 7%
Change in energy prices -1%
Change in long-term interest rates +4%

A stock with average exposure of b=1.2 to changes in GNP and long-term interest rates, but negative exposure of b=-2.3

to the energy factor. With the risk-free interest rate is 5%, please calculate expected rate of return on the stock.

+ ~ 344k P9 SF 4R 80 2 & (Internal Rate of Return) & &k [ 3t 3% 3 L5 E 69 F ik (82 R) (F#6%)
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